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For any power series E cn(x —a)" there are onI); three cases: . T
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1) The series converges only when x = a.
2) The series converges for all x.
3) There is a positive number R such that the series converges for [x — a| < R and diverges for |x — al >R

The number R is called the Radius of Convergence of the power series. -
The interval over which the series converges is called the Interval of Convergence of the power series.

There are four possibilities for the interval of convergence: (a—R,a+R),(a—R,a+ Rl,\[a=R,a+R),[a-R,a+ R].

The Ratio Test and the Root Test can be used to determine the radius of convergence R.

The endpoints must be checked with some other test. [ K et/ | : % ¢
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Find the interval of convergence of the power series b (f) ; - M(\ < | | S.A‘ < J
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The series is ponvergent from x = ;" left end included (en- A= [ % i 1 — i J—,./? 1:5 0&4/ ’ﬂ-—— 2 VI
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Find the interval of convergence of the power series
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The series is convergent from x = —, left end included (enter
YorN), ___
tox=___, right end included (enter Y or N): ___

The radius of convergence isR = ___

3. apy) UNCC1242/EssentialCalculus-Stewart-Sec8.5.5.pg
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ind the interval of convergence of the power series
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he series is convergent from x = __, left end included (en-
rY or Ny

'x=__, right end included (enter Y or N): _

he radius of convergence is R = __.
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Find the interval of convergence of the power series E Inx.

n=1
The series is convergent from x = ___, left end included (en-
ter Yor N,

tox =-__, right end included (enter Y or N): _

The radius of convergence isR = ___.
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The series is convergent from x :M left end included (enter

or :_M
e . To(-2) = p0

tox = t , right end included (enter Y or N):Z___

Find the interval of convergence of the series Z

The radius of convergence is R = v F
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Find the interval of convergence of the series Z
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The series is convergent from x = _4 left end included (enter . :
Y or N): _af o aang
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The radius of éonvergence isR= _Zé(
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Book Problem 11

Find the interval of convergence of the series
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The series is convergent from x = ___, left end included (enter
YorN): __ .
k=, right end included (enter Y or N): __

The radius of convergence isR = __
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Find the interval of convergence of the power series

Z (= )n(x+4)"

n=1 vn

The series is convergent from x = » left end included (enter
YorN): __

tox = , right end included (enter Y or N): ___

The radius of convergence is R = ___| ;
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If 2 X" converges when x = 7, does it follow that the fol- =% Seansy CE j”
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lowing series are convergent?

A) icn(——ﬁ)" Yes
n=0
B) );]cn(~7)" Ne
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Suppose that 2 cpx" converges when x = —6 and diverges
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gence of the following series?
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Extra Problem

Match each of the power series with its interval of convergence.
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